'\j\’do\iw\s /](—C\'UL p*ﬂ{ 13

3

() T-gw F

F 6
D T - X B2 239 C
S T ¢

_ ot
b) Tk;«Tc»vﬂnwr;szﬂﬂ.u:’ﬁoﬁ K

0
@ &Ta': ~6 ¢
&) KT, =7 ‘STE:: pL=—6tk

T - ‘«\ = -—GX"X:"‘(O‘:
,) AT =7, AT = BT xb¥
'

— - 0 T
@ LO = g3 m o = [0 C | :_Sooc

A=lool 8T = (1§3)(1a i ¢ )(so -1
BL = 0-00%8 = £+ mim

. N 3 e 0 \
'LL\) -A:Arﬁ,q:’/gc‘m y L\:’ZOC""‘/L‘:QS‘C @L
T:ﬁj‘oc A
3

BVhios = Vo B, BT = (25 x20)(57x17 ©)(15-25)=5:74S G

brass

b\/ww‘\’“ = Vo F)w»\,w h—f = (73)(10)(207)((:93((‘5")’?}:3\‘735\0:

VG“&A\AW = I =5 ‘i‘d?;m



@

53
AO: %QOE-/"I' Cem y /;\
To = 2°C 7%
T .8 &
A = H.4qfe00
A= A\)(\"\'ﬁo(LT) 2 ﬁ:\*ZdBT
T i
QV&L)CYZG\VLJ(‘W\
— \ G100
S AT (A ) e
\ O p— ——r —_ - s -
s Rrs Loz< 0 \ 2(\‘\)(\\»(’) Aoy

(v
DNT = @ 6" c = T= o+l 82265

@ y

A Mde "y Co, = 122 206) = o Smms:o\oq\})ﬁ

MeasS A~ oNE Wu)\!&u;\k 7L Cop

oS B
mass A 4 MR ede= = 7

24
S 773 X{y
é\“l\(l\; >

Hy

MASS A e Ve — 13-083 EVQW\J

0\) g\( O\L‘(ﬂ‘f\m«/ Mass & 1 G = 13003 W

27
B) T by, s A4 adee = (1303 w)(E7XG )

:\2&!57\ x( 28 gy \ |







52 E |
\/\;) ;’Z m , Pl = \.OK(Q§ PO\ ) T, = 270C
Ve AL / Ty = ﬂﬂ-7dc Y, ()L:Z

YW j\_s_ . (H/_wa)(\,2> 274273

] - ___’-’——’_—_-’_“ -
Pvo To ~ <O'é‘) 227 el 73
J Sed 0
}ﬂ-\\_“:' =7 GX W _ .9 Yo
ks T
P, =% XU Pa
g m= 0532 5 A0,
\3" \~0)((§(\)a
= 0°C
\VaE= Iy
(\j\/—“ \/\%T WA V\,st\ 4 = ik Vﬂ""&a\is
2 g ) V.62 Male s
0-0%L K”mq

per Coss) (1) (370 Jp3im’|

\/"‘ B S s R

P - [.oXie




N=p%2 "’“J(S VL Q\r

’?: L 0\+*W:|t0|3)(\¢3\ pc\

\/_;\ L: 0‘00\ Vb\3




